E8E HLEHRT

2% 2 i LB ARE 2 — (AR REL o LT, Shdh. i

TEAFRREI TR B 2 OB e 4 A G 2 BTN %) .
$§8.1 S#ghzk
EX 8.1 HFiy:la,fl- REJEESM, By (t) = (x(t), y(t), z(t)) I =A
O3 B BRI X (L), y(b), 2(t) HR A2 [or, A1 T A 42 bR, TR S0ty 2 R
T — 45 PRy (o) A INE y B 5T, y(8) W y KR FEA
KA, WKy ([, B1) H HHZER.
EX 8.1 %y [apl>R ML, T [a,b] > Rt k. #1714
[a, b] b A% 3 3 (R ZE R 2 o ¥ [a, b1 R [, B1, I HI T =y 09,
NIRRT 5y 2Rl —4 ek, hARr 2k y M5 —S83F0R: 2y ()=
yta+@-1)p] 0<t<1), MRS —5& Lk y : [a,f1> R L ¥ 1
U ESS
Bl 1 K@) (ast<b) Hy@) (a<t<p) R E-—S ik, W)
[ ([a,b]) = ([er, A1) =~ ([0.1]).

Bl 2 By=f(x)s[ab] LAIESERREL, WIS — 4% R? )
2k »(t) =(t, £ (1)) (a<t<h).
Bl 3 X1 2 SCHRELF (x,y), HAAER P IIIZ y: [a, B1-> RAETS
y([a, B ={(x,y) e R*:F (x,y) =0}, WrKs F (x, y) =040 — 21l
G TR X T 3ICERELF (x, y, 2) MG (X, Y, 2), £FAFAE R i i 2
y: [, Bl-> RAETG y ([a, A1) ={(x.y,2) e R*: F(x,y,2) = 0,G(x,y,2) = 0},

F(x,y,z)=0

WAz
mumﬂ{G(x’y,Z):O

MR A I R 2R K T3 R By O i A i il 2

HIZ K.
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5 4 (BEE) “F1 2k y (1) = (acost,bsint) (0<t < 27) %ﬂ?ﬁ:—j+g—§:1
4R, ha,b>0 &AL
5 5(RBLrEk) “In Hh 4k (1) =(acost,asint,bt) (e <t< B) & Lla h¥
e Lh2xb ABRER BRA 2k, Hiha,b > 02 4L
EX 8.1 Byila,fl- REML. 7 y(a) = y(B), WKy &P Ze; 2
Vit ela, B, t#t,, B p(t) = (L), WIFR y & s gh 2k (38 Jordan (i
) vt ela,B), =, B r(t)2r(t,), HHy(e)=y(B), WKy
s T B P i 2 (8 Jordan P Zk) .
EX8.1" Wy [apl>R 2L, 7 AIHIHHE], Lok a=t,
<t <<t =, WELy(t,) (k=0,1,n) AT AP AR Z

)= 21780 -7,
2 s(y) =sup{s(y,7): m +& [, BIHI 73 F } < +oo, WK p J2 0] KA i £,
HAKEs(y).
Rl 1 Wy DR, T 5y R4 g, WsT)=s(y)=s(r"),
HI it 22 R B 5 e K SRR TR AT ) TG K.
HE: My K s(p) e . O
Rl 2 Wy o, Bl RO AR E (1) ik, HAS b L, WIAAAE

y Y BHERFT 0L >R, R : Vs, € (O,L], T |

KGN s, RT 0ty K HRSHER R, QER: — RIS T2k
AT HIRBHRR)

WE: 530 [a, B BT RS I RIS R o T 1

oy Lela, bl
¢(t)={3(y(l[']) t(if]

AR @7t AL [0,L] b ™R 3ok G Y 3 22 eR K, RF [0,L] R R [@, 8], TR
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T=yop™ ity MY —ZHER. vs,e(OL], 2 t,=p7(s,) , Mo ¥4
[0, 8 WRIK [, t,], T Jig o ) 72 ¥ | HU T — B AERIR. T2,

S0 =9(t)) = S(7 1 11) = S(T fio.5,1) - T
EIE FAEXHERMSIZ y: [0,1] - R, &R y([0,2) 16 4 2 AL
IEAK[0AF. (Peano k)

Gg3I@m8.1(P,,) 1,3.
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§8.2 MZ&BIYIOE
TEMX 8.2 % y(t)=(x(t), y(t), z(t)) (e <t < B) & REP L. 2 x(t), y(t),
2(t) # 2 [o, B1 LRI CH (k e N7) BREL, IR y 2 REHFCH LR 45y 2

Ry Ct g, IF Hsiag [y (t)| = \/|x’(t)|2 +y'@ +Z@[" >0, vte[a, A1,
JUR y 2 R R 22

EX 8.2 By:[a,B]->REGHT (BCY) L, It [a,b] > R M2
T (s CY) k. A7 A7AE[a, b] LS HUE IE ) C* (B ks 16 1K) C*) B2
o ¥ila bl BtEi[e, A1, H HIET=yop, WKT 5 y 2 F—560H
(8C*) gk, AR T &l (i ch) thk y 15— S8R,

WEE BLy(t) = (x(t), y(t),2(t) (@<t < B) 7 R 6T 2k, t, e[, A1,

W y'(ty) = (X(t), y'(t),2'(t)) 22 2y 18 p(t,) ALHI DI ) 52, FF HLA y B3
078G Wy 1Ry (t) AR Z T RE N

x—Xx(t) _y-y(t) _z-z(t)
X'(t,) y'(t) 2'(t)

2y £y (t)) AL IRV 1T FE N

X'(t)(x = x(t,)) + ¥'(t,)(y = ¥ () + 2'(t;)(z — 2(t,)) = 0.

iERR: EE?W%NOJ’AA?_NO)Eiﬁi‘ﬁiy(to)%n St + A [ 5 [ 25 F

17, /() = im 20 B2 sty 2 ) bty . O

%38 8.2(P,,) 1,4,5,6,7,8.
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§8.3 RiFHZRIINK
EIE 8.1 F5y(t)=(x(t), y(t), (1) (e <t < B) /& R i i &, W) —
JE AR, AN
s() = y®)dt.
B[] dt H ' (0)dt h y 75 p (1) AEHI I T AT K TG 2.

WE: Ve>0,36>0, ff{%Vrl,rz e[a,ﬂ],|rl—z'2|<5, AT

K@) =X [y )=y @) @) 2w <3

W &, FIR P E]L L R a= t, <t<- <t=p4. W& .6t t)

1§15
X(tk) - X(tk—l) X,(gk)
yt)—rt )= yt)-yt. ) =t -t )| Y()
z(t)—z(t,) 2'(&)
X’(étk) - X’(tk—l) X'(tk—l)
=t —t.)| Y(m) -y () [+t -t )] V()|
2'(&)—7'(ty) Z'(t, )
i 7t - 7t D=7 @ D)t~ )

< ‘Xl(égk) - X'(tk—l)‘(tk —t4) +‘y'(77k )— y,(tk—l)‘(tk —t4)
)_ Z'(tk—l)‘(tk - tk—1) .

Y Hﬂ'” <O WHEH
Sl -t

, k—1)H (tk o tk—l)
< imy(tk) 7t

T

, k—1)H (tk - tk—l)‘

3(ﬁ— ) —t4)
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n

E
230 -a)

(tk _tk—l) =¢&.

<z, s =[|yo]dt. O

%] >0t |

wE Wy (o p]>REEIE I, € XA [a, ] LSEEIER C
H o) = [ [7(0)dr, AR o 2 [0,5()] L F B IE 1 C* iR KL,
[0, (IR [, B]. T2

(1) T=yopth y R —46H HhZk;

(2) T 75 T(s) eI ITTFE A ds, B T'(s) A& T 7E T(s) &b A3 1)

i) 5
(3) Ty ERSHER.
iE: (1) &4

(2). X Ttela, Bl, its=p)[0,5()], WA

()= T (5] )(S) Yl ()] _y'M) _ ')
dlote o) Irol

(3). Vs, €(0,5()], S, = j:" ds = j0°||r'(s)||ds =5([ fpp) - XWHAT Ay 19 H

R HERR. O

3 8.3(P,,) 1(1,6,8),2,3,5.
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